Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, ®10, ®12
Ordering code
HGS 10x15 S ]
| | | I
® Model ® Stroke @ Magnet
HGS: Slide table cylinder Bore size (mm) | Standard stroke (mm) Blank: Without magnet
6 510 S: With magnet
® Bore size 8 510 15 20
6810 12 10 510 15 20
12 5 10 15 20 25

® Stroke adjustment device

Blank: Without stroke adjustment device [Note] Stroke adjustment device of ®10\®12 can be replaced by shock absorber.

J: With stroke adjustment device
[Note]

F-HGS 10><15 H
@ @ @@

Ordering code of accessories

® Model ® Stroke @ Accessories type
HGS: Slide table cylinder Bore size (mm) | Standard stroke (mm) H: Sensor fixed seat
6 5 10 package
@ Bore size 8 5 10 15 20
6 8 10 12 J: Stroke adjusting screw
10 510 15 20 package
12 510 15 20 25
Matching table
Sensor
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5H F-HGS6X10H
Bore F-HGS8X5H F-HGS8X10H F-HGS8X15H F-HGS8X20H
size | 10 | F-HGS10X5H F-HGS10X10H F-HGS10X15H F-HGS10X20H
12 F-HGS12X5H F-HGS12X15H F-HGS12X20H F-HGS12X25H
Stroke adjusting screw
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5] F-HGS6X10]
Bore 8 F-HGS8X5] F-HGS8X10J] F-HGS8X15]
size | 10 F-HGS10X5] F-HGS10X10]
12 F-HGS10X10J F-HGS10X15] F-HGS10X15]

345




Slide table cylinder

AIl'TAC

HGS Series

Specification

Bore size: ®6, ®8, 10, ®12

Bore size(mm)

6 8 10 | 12

Acting type

Double acting

Fluid

Air(to be filtered by 40um filter element)

Operating pressure

36~100psi(0.25~0.7MPa) | 29~100psi(0.2~0.7MPa)

Proof pressure

175psi(1.2MPa)

Cushion type Bumper ‘ Bumper or shock absorber
Temperature -20~70°C

Lubrication Not required

Speed range 50~500mm/s

Stroke tolerance 05

Sensor switches DMSH\CMSH \EMSH

Port size M3x0.5 | M5x0.8

Production weight table

Unit: g
S Body Sensor fixed seat Stroke adjusting screw package weight

weight package weight = gj,g|e adjusting screw Single shock absorber Other accessories
HGS6X5 116.1 14.25 2.4 - 11.61
HGS10X5 152.3 19.05 2.4 = 11.61
HGS8X5 133.01 14.05 2.4 - 10.34
HGS8X10 167.46 18.54 2.4 = 10.34
HGS8X15 207.07 23.35 2.4 - 10.34
HGS8X20 239.37 28.16 2.4 = 10.34
HGS10X5 194.26 15.91 6.8 16 27.36
HGS10X10 248.98 19.12 6.8 16 26.2
HGS10X15 303.39 24 6.8 16 21.8
HGS10X20 352.05 28.93 6.8 16 21.8
HGS12X5 291.01 21.64 6.8 16 27.36
HGS12X10 318.12 21.64 6.8 16 26.2
HGS12X15 356.79 27.63 6.8 16 21.8
HGS12X20 445.92 33.25 6.8 16 21.8
HGS12X25 491.34 38.87 6.8 16 21.8

Example :

HGS10X15SJ=Body weight+Sensorfixed seat package weight+Single adjusting screw weithgX2+Other accessories weight
=303.39+24+6.8X2+21.8=362.79(9g)

346




Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, ®10, ®12

Table precision

[Unit: mm]
Model HGS6 @ HGS8 | HGS10 HGS12
parallelism C surface to A surface 0.02
D surface to B surface 0.02
Parallelism of | C surface to A surface 0.004
walking D surface to B surface 0.004
Dimensional tolerance of E +0.05
Dimensional tolerance of F +0.05
Max. allowable torque
Model Max. Allowable torque (N.m)
Pitch moment Mp | Yaw moment My | Roll moment Mr
HGS6X5
— 0.42 0.42 0.87
HGS6X10
M HGS8X5
o My Q E ’ T — 0.42 0.42 0.87
I " @ﬂ M HGS8X10
o
_ HGS8X15 | 17 17 18
HGS8X20
_HGS10X5 | 12 1.4 23
L L HGS10X10
HGS10X1
_HGS10X15 2.8 3.1 33
HGS10X20
HGS12X5
HGS12X10 2.4 2.9 4.7
HGS12X15
HGS12X20 | 6.5 77 73
HGS12X25

Max. allowable load

[Unit : kg]
Model HGS6 HGSS8 HGS10 HGS12
No stroke adjustment device 0.3 0.3 0.8 1.2
With stroke adjustment device 0.2 0.5 0.8 1.2
With shock absorber - - 1.6 2.0

V4 347



Slide table cylinder Ail'TAC

HGS Series

Table deflection

Bore size: ®6, ®8, 10, ®12

Table deflection due to pitch moment Table deflection due to yaw moment Table deflection due to roll moment

! ! A
F A : F A :
! ! F
0 1 a 1 © o
00 3 3 |
° o o ° © ol IO
- | | L
HGS6 L=80mm ! HGS6 L=80mm ! HGS6 L=80mm
T T T . T T T T . T T T T
| | 1 | ! | | ! | | | |
~0.05F———- = 1 ; 20,05 —— b ; 20.05F —— -
g ! | I ! i E I I I , | € I I I I
E0.04f -t ; e e ; S i o
| | | | 1
§0.03F - —d b | §0.03 ———-——f-——F-———— | §0.03F
Sooaf b 3 Go.02f b i Googt 1L
| | 1 = | !
3 0.01%—%———}—— ! ] 0.01;1—/%—/——#———}———— ! z 0.017———‘/—#—/———1————‘#
| | | | 1 | | | 1 | | | |
I L I I ! I I I L ! | I I I
0 10 20 30 40 : 0 10 20 30 40 ! 0 10 20 30 40
Load N Load N Load N
HGSS L=80mm i HGSS L=80mm i HGSS L=80mm
T T T T ' T T T ' T T T T
! | ! | ! | | | ! | | | |
—0.05[ ~ =t ! ~0.05————~ e 4 4 ! ~0.05 ~~ ===
€ | } | } ! £ } } | ! £ } } } |
E0.04f b | E£0.04 ; B ; E0.04r 7t
§0.03F -t 3 50.03 : §0.03r -~
HGS8X5 b ! ! HGS8X5& | | |
go. 02’?|G$8XI§’H§§§§§§& ; $0.02 : So. 02l Gsgx10 |~ HGS8X158]
8 0.01%——% : % 0.01 : B 0.0f - :——HG—‘SS—X—Z—(’}—f
‘ | |
I I I I | | I I I I
0 20 40 60 80 3 0 3 0 20 40 60 80
Load N Load N Load N
HGS10 L=100mm 3 | HGS10 L=100mm
T T T T ! 1 T T T T
I I I I ! ! } I ' I
,Exo.os—ﬁJﬁfi‘ﬁquﬁ}f— | | 0,05~ ===t
I I i i
50.04fﬁfﬁ%ﬁkf~i~ ! ; E0.04*****}****:****3****:“’
50.03 HGSW‘M ] 3 i g0.03777—4‘5—7—%————}————}——
=1 ! ! =1 HGS510X5&
§0.02 | | go.02 H@mﬁg#&g%;gg
g o.01 3 80.01 ‘
i I ! 1 I I |
0 ! 0 20 40 60 80 104 ! 0 20 40 60 80
Load N Load N Load N
HGS12 L=100mm i i HGS12
T T T ! i
| | | 1 |
0,05~~~ ===~ e = ! ! ~0.05
£ i ! ! 1 ! £ 0.04
********* ===t 1 1 .
£0.04 HGS\12X5~\ T ; ; E
£ 0.03F “HGSI2X15-————|-| : 1 50.03
! GSlZX o0& | | b=
U0 02****4‘* ***C*SEZX : : E0.0Z
8 0.01 | | 8 0.01
| \ | ! 1
0 50 100 150 3 ! 0 50 100 150
Load N i i Load N




Slide table cylinder

AIl'TAC

HGS Series

Installation and application

1. Cylinder can be mounted from 4 directions
2. When mounting an compact slide cylinder, screws of appropriate length should be used and tightened properly within the maximum
tightening torque. If screws are tightened beyond designed limits, malfunction may occur. If they are tightened insufficiently,
it may resultin sliding of falling off from its position.

I] [elle}

ﬁo

O O

\)

[0)

Bolt |Max. tightening Max. screw-in
Model ced torque (Nm) depth(mm)
HGS6 | M3x0.5 1.1 4.3
HGS8 | M3x0.5 1.1 6.3
HGS10| M3x0.5 1.1 6

M3x0.5 1.1 4.8
HGS12 vax0.7 2. 4.8

Note: M3X0.5 bo

It is used for HGS12X5/10.

Bore size: ®6, ®8, 10, ®12

m [o o]
Owlo ol O
N \
Bolt |Max. tightening Max. screw-in
Azl used torque (Nm) depth(mm)
HGS6 | M4x0.7 2.5 4.3
HGS8 | M4x0.7 2.5 6.3
HGS10 M4x0.7 2.5 6
M4x0.7 2.5 6.8
HGS12 v5x0.8 5. 6.8

Note: M4X0.7 bolt is used for HGS12X5/10.

Bolt Max. tightening Max. screw-in Bolt 'Max. tightening Max. screw-in
ACL used torquge (Nm)g depth(mm) — el used torqu% (Nm)g depth(mm)
HGS6 | M3x0.5 1.1 3 e HGS6 | M2x0.4 0.26 4
HGS8 | M3x0.5 1.1 3 HGS8 | M2x0.4 0.26 4
HGS10| M3x0.5 1.1 3 HGS10| M3x0.5 1.1 3
HGS12| M3x0.5 1.1 4 HGS12| M3x%0.5 1.1 4

Installation of Accessories

Locking torque shown in the following table is recommended to tighten the bolts, if bolts are tightened beyond designed limits,
malfunction may occur; If they are tightened insufficiently, it may result in sliding of falling off from its position.
Stroke adjustable device

Sensor Seat

Port-adapter must be assembled correctly, leaks may happen if it is missing.

Magnet holder

Port-Adapter

Sensor holder

Bolt D

Model Bolt A used ::::J:gj':]g) Bolt B used t':::dgf:\:t;g) Model|Bolt C used th:?();u.::z:ll\:l.;g) Bolt D used tl\:::l::f:;':]g)
HGS6 'M2X0.4X10L 0.26 M2.5X0.45X10L 0.36 HGS6 | M2X0.4X6L 0.26 M2.5X0.45X10L 0.36
HGS8 ' M2X0.4X10L 0.26 M3X0.5X10L 1.1 HGS8 | M2X0.4X6L 0.26 M3X0.5X10L 1.1
HGS10/M3X0.5X12L 1.1 M3X0.5X12L 1.1 HGS10| M3X0.5X4L 1.1 M3X0.5X10L 1.1
HGS12 M3X0.5X12L 1.1 M3X0.5X12L 1.1 HGS12| M3X0.5X4L 1.1 M3X0.5X10L 1.1
Sensor seat can be installed on both sides of cylinder while stroke adjustment device can only be installed on the side with no ports.
About shock absorber
1. Shock absorbers are expendable. Promptly replace them when energy absorbing capacity decreases.
2. Never turn or adjust the screws on bottom of the shock absorber body. The screws are not for adjusting.
Otherwise would cause oil leakage.
3. Follow the table for tightening torque of shock absorber to lock nuts. Model | Shock absorber Tightening torque
Shock absorber lock nut HGS6 Without shock absorber
HGS8
HGS10 ACA0806-1N 1.67(N.m)
HGS12 ACA0806-1N 1.67(N.m)

The screws are not adjustable
otherwise would cause oil leakage.

349

A



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, 8, 10, ®12
Inner structure
NO. Item
1 Body
— 2 Slide table
N 3 Adjustable screw
4 Bumper
| f{}) 5 Hex nut
‘ 6 Middle stopping block
o W an 2
W\ O 7 | Hexagon socket head screws
— 1 — 8 End stopping block
: ] @ 9 | Hexagon socket head screws
' ' 10 Sensor fixed rail
11 | Hexagon socket head screws
12 Magnet holder
@ @@@ @® 13 Magnet
~ Sk 14 Screw
15 Pin
\g- 16 Piston
@ A N\ , 17 Piston packing
1 = ] 18 End cover
6w @@ o 50 19 01ing
20 Cclip
Dimensions(HGS6)
HGS6X5 5 [Unit: mm]
31381 dp:3 2-M3X0.5 3
3 w15 i Inlet port ®31831 dp:3 19.5:0.05
[32) o~  I—
L | 0 ]
i 2.3* ‘ 23 I 5 }
S > [ o - g ‘
o Il [} = B | Slell Z1 7R A ¢ P 4 =) @'
© o < O
< < 1o =
% :5: b t o sl i
2 < S +0.04 41| ) 3o« @
= =) | 3%01 dp3 0 S S
S b IS 16 2-06 Countersink dp:3.5 o = =
% = S ¥ =
in : ) M4X0.7Thru.hole Q2 ¥
~ ~ = < %)
= < n
:
1.5%0.1 20+0.02 Z
@ | ATTAL 0 g
[P] 1 | 3
w. ~—
P. Qare Installation datum [23+0.05 | ™
HGS6X5S HGS6X5] Adjustable range :5mm
1 H8
6 H3
2 44 0.5 10 3 2
' = o > m
I _ P2 6 ° 5 0 © ol | J
i‘ﬂ S 31 5 . 2t 4,5
2-M3X0.5
Inlet port 15,18 9

V4 350



Slide table cylinder

AIl'TAC

HGS Series

2-®6Countersink dp:3.5

Bore size: ®6, ®8, 10, ®12

5
2-M3X0.5 3
Inlet port
0l
2.3 2
| °
n g
< 3, 3
< o
E- ‘Y
5 |
< o
S
S f
N

2-M2.5X0.45dp:4

®31331dp:3 19.540.05
-

ol

° 0
iU

318:0dp:3

HGS6X10] Adjustable range :5mm of each sides.

HGS6X10
®3190idp:3
3 15
< LN
© ~
- 2.3 | ,
3 ; 5] o
b )} ol <[ Z. |
S < % | glall =11
F
v d B o 3
g g 5 4 L
< 0
2 S SERTH
S g 2 dp:3 16
= & = M4X0.7Thru.hole
=
&
1.5¢0.] 20%0.02
Q{3 © 3
PEQ ] | 3
@ =
P. QareInstallation datum |23+0.05 | ™
HGS6X10S
n
o 59 0.5
)
| b o1
n
10| © 2-M3X0.5 46 5
Inlet port

351

Max56

10

H8

H3

11.5

34

n
S
; )
|
n
<)

4.5

11




Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, 8, 10, ®12
Dimensions(HGSS8)
HGS8X5 [Unit: mm]
®310:0idp:3 5.5
n 2-M5X0.8 3.5
3.5 - 15 " Inlet port 16, __3.5:0.05
I
o 2.6 : 2.6 el L= m 4 9| +0.04
~N T E} X . © 0 ~ P3%0.01dp:3
> S ~F 9 n n
=il [ il SeRk : e el
« od - b (oY f’:
g by - | n 5 ﬂ =S
=2 o P [ T ¥« ) ¥
) I =Y 2 ol -
= . | 3+0.09 n 2| g
= < o d;’;gl 2-®6Countersink dp:3.5 83
= s X 7. M4X0.7Thru.hole e
0 x
N ~ = ™
< =z
o~
1.5+0.1 20+£0.02
@ © 3
L E*EREE
P. Qare Installation datum | 23+0.05
HGS8X5S HGS8X5] Adjustablerange :5mm
6 _ . H8
n
s 45 0.5 1 3 1 H3
! ol
(O) " e
(AN — - ()
= © © in © © a |
2-M3X0.5
10 % . . 10 .
2 ° Inlet port 31 5'5* 20.5 12.5 pl 4.5
8.5 9

V4 )



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, ®10, ®12

HGS8X10
5.5
®3718:01dp:3 2-M5X0.8 3.5
35 15 Inlet port 16_ 3.50.05
n
I 3 = Ml o
N 2.6 2.6 wlh o o 40 | €
e b o ° @ 4 03 18:84dp:3
g ol 15 a G o —
S e = llo| & N i S e
5
R < il 8
s 5 0 S + Til° %
[=Y of L h ik S ~
3 S B il @ 7 e
< 3 S| 31004 4-®6Countersink dp:3.5 X/ & “
) = ™| =+0.01 g3 e}
s & =| dp:3 M4X0.7Thru.hole gt
~ <+ 16 N g
[s2]
=
m‘:
1.5+¢0.1 20£0.02
Q== 0| 9
s
AE*EREE
P. Qare Installation datum | 2340.05
HGS8X10S HGS8X10] Adjustable range :5mm of each sides.
Max56
6 L
" 10 6 __H8
S 59 0.5 n
Sy 3 3 | H3

10| 2 1112 wn —L
Jo 2-M3X0.5 49 3.5 3 o 3

Inlet port

V4 353



Slide table cylinder

AIl'TAC

HGS Series

HGS8X15
3.5
n
N
N 2.6
<o
— Nl
O| e <
P g
< v
g g
S =
=< ~
(a2}
s
<+

HGS8X15S

0.5

5.5
®3100idp:3 2-M5X0.8 3.5
Inlet port
@
wn ~ " "Q
T \' \ WIS
2.6
\b i e o °
D ol R n n 2]
W — ~| < <
< lo| o ® o ©
<
[52) T o O
2 C 8 2
b= n <
o L ) n g o~
< N« Y
[2) st
i 31991 I\4-<1)6Countersinkdp:3.5 &S o
0 n
dp:3 M4X0.7Thru.hole pl
16 S
(22}
=
<

1.5+0.1 2040.02

Bore size: ®6, ®8, 10, ®12

[QH e 3
o
L SEREE
P. Qare Installation datum  |73+0.05
74 0.5
[® © ©__°]
2-M3X0.5 64 5.5

Inlet port

354

16

3.540.05

37.5
ES

31061dp:

(0310.01dp:3

HGS8X15] Adjustable range :5mm of each sides.

Max61
6 1
10 6 H8
3 3 "". H3
o
®©l®
| @
- /o
| 00 ©C t 1
wn
141111 141117 J 4.5
9




Slide table cylinder

AIl'TAC

HGS Series

Bore size: ®6, ®8, 10, ®12

HGS8X20
5.5
®3135idp:3 ) 3.5
35 + 15 2-M5X0.8 16 3.5:0.05
Inlet port
" L
i - = ato
N gl ‘ N © | 8
2.6 LA
JlS i} 7 - ° © o4 0.04
n +0.
© &l o e 183 ¢ <] ° ®3188idp:3
2 N | Pl & 2 8 s d
¥ 5
A = =
g o = ? N 3%
< a N S f -
+ S 3 & 8
5 S s Holl , . o | o
3 & i) "o
J s ) al e
S 4 4-®6Countersink dp:3.5 S =
n
o 31831 M4X0.7Thru.hole S "
< dp:3 16 g
<
1.5+0.1 20+0.02
QHZ B
[P} (4D 2 E
P. Qare Installation datum  |234+0.05
HGS8X20S HGS8X20J] Adjustable range :5mm of each sides.
Max66
6
10 6 H8
n
S 89 0.5 3 3 2 H3
I ®
&) i ~
| 1w O© O© i P
iﬂ & 2-M3%0.5 79 5.5 14_|_16_| 14_|11|1 ﬁ 4.5
Inlet port 9

355




Slide table cylinder

AIl'TAC

HGS Series

Dimensions(HGS10)

HGS10X5

®3135idp:3

20

(%]
2-®06Countersink dp:3.5

M4X0.7Thru.hole

L33 []s:

3.5
F
o i
~ 3.6
) e .
O
wn ™
n o M
5 a 3|
Ln_ hel n n
=) 1 =) i
< o < &a
™ x [s2]
s ™ =|dp:3 21
& = 5 ‘
o~
27+0.02
E-~MEE
7N Y et
I
P. Qare Installation datum 28+0.05
HGS10X5S
47 0.5
| AITEAR
%Q
)
2 2

5.5

Bore size: ®6, ®8, 10, ®12

2-M5X0.8
Inlet port

3.6

©

| X

2-M3X0.5dp:3

2-M3X0.5dp:5

©[©®

17

5.5

11
48

HGS10X5J] Adjustable range :5mm

[Unit: mm]
21 3.5+0.05
4 0330:0dp:3
jpos
2
=2
7l
W Hil
S H4
| ATTTABR
]
™ )
L |
LQT 6
M2




Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS10X10
5.5
®310:0idp:3 3.5
35 0P 0 2-M5X0.8 21 _ 3.5£0.05
i ‘H_ . : Inle;p;or 3l
" “"='=' : ; ‘ Ny oo 4 D € +0.04
o |l [ g—a d= o [l © 3109%dp:3
al ‘ N | o o| 1€
2] IR S ol efor——1" MY o ’@L
Ll < a
5 & ¥l T 2 e
K 5 " - :
S S < +0I|01 § sS4
fg = Q/3+0.0idpid 4-®6Countersink dp:3.5 =5 u"':
iy Z + 21 M4X0.7Thru.hole a ;
s
~
0.5+0.1  27+0.02
[QH ‘*"“";,f?: S E
A\ [T3)
[P] s
P. QareInstallation datum 28+0.05
HGS10X10S HGS10X10J Adjustablerange :5mm of each sides.
Max. 74
9 9
i 59 0.5 7  Hil
© 4 14 —~_l4 Sy H4
= s (g
() 5 | . N
| ? @ @ 1 LN ® ® — | |
10]2 49 RREE 7 o e
2-M3X0.5 50 ST,
Inlet port

V4 357



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS10X15
5.5
®©31§:5idp:3 2-M5X0.8 3:5
w .
35 || 20 @ Infet port 21 _ 3.5%0.05
il < D
o ‘—| — | 4wk o
Ao I REE: S - >
| ol ol of ) = = o || © 2 03 188idp:3
Iﬂi ~ y RGN ©
Q “lo| [ lo 7 g e [l ¢
| ® @ I ™ _g-
o ™ a o
oo =l 2 S = =
LN o — o ™
<] = O q‘ I =< n
p 2 2 3 2 s :
=2 = < +0|n | 4l
S ~ 3%001dpi3 4-®6Countersink dp:3.5 5
o 21 M4X0.7Thru.hole S
= <
+ 2
<
0.5+¢0.1_ 27+0.02
(R~ EE
{/ o
E A\} 2§
P. Qare Installation datum 28+0.05
HGS10X15S HGS10X15] Adjustablerange :5mm of each sides.
Max79
- . Hil
2 74 0.5 4 14 |4 P H4
(AT TAG — O)Q, | (AR
| [ @ o1 @® @©® I I
LN, n
10 | o 64 55 20 15, 20 _110]] 2 ) 6
*JC’ 2-M3X0.5 "

Inlet port

V4 358



Slide table cylinder

AIl'TAC

HGS Series

HGS10X20

= 20
< N
n i I
o~ h L
3.6 © § [}
o olOfol © ol
0| o ‘ <+ <
N
¢
”
© = )
n S 3
e e}
n x H ! | ‘|_|,
a g e |F3 q n
o T ™
2 ~ = | |
% © 32381 dp13 4-06Countersink dp:3.5
= 21 M4X0.7Thru.hole
<
0.5+0.1_ 27+0.02
N =~ EE
{/’\\\ [Tp) .c|_’|
[P} R
P. Qare Installation datum 28+0.05
HGS10X20S
mn
o 89 0.5
| ANTUAR
@) %
)}
© L
N,
10]3 J 79 5.5
2-M3X0.5

®3183idp:3

Bore size: ®6, ®8, 10, ®12

Inlet port

359

5.5
2-M5X0.8 3.5
Inlet por

n
B
3.6
o
o || oF—
ol ¥
w0 O
[32] N O
=)
@ °
o e}
<
[s2]
=
& \n
n n
i
©
n
<)
=
(32}
=
<

21 3.5+0.05
u(} €
4 ®31531dp:3
0 &l
il
©
33 N
Fad
™

L9

HGS10X20] Adjustable range :5mm of each sides.

Max84
9 H11
4 n
4 14 - o Ha
QC >
el )
00 00 $ | |
20 20 20 g? 6
12




Slide table cylinder

AIl'TAC

HGS Series

Dimensions(HGS12)

HGS12X5

®315:5idp:3

25 n
m
o
o = r
o 1
el ] iIBEE
3 © H{rt© SIS
1l @ ol —
red -
N =| T <
a a Y.
° o =3
N N ° oy
<] S o +0.00 R3 &
x P S| 3%00idp:B 0
= = ‘g 2-M4X0.7Thru.hole
0.5+0.1 32+0.02
@ ArAR 0 Ng
PHC )T 1
| N
P. QareInstallation datum 33+0.05 2
HGS12X5S
=}
S 59 0.5
| ARTTAR i
(@A I
0 0 ©
!
1015 45 6

2-M5X0.8/

Inlet port

360

Bore size: ®6, ®8, 10, ®12

w
i

2-M5X0.8
Inlet port

A\

3.6

=

20

6

20
60

2-M3X0.5dp:4

2-M3X0.5dp:5

F

45

HGS12X5]

14

24

[Unit: mm]

4.5+0.05

338:01dp:3

3 19:01dp:3

Adjustable range : 5Smm

| SIS EES

50

4.5

13

H11
et H4
I | ATTTAR o
7\,
| 1
0 6
N2




Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS12X10
®37§8idp:3 22
5.5 25 - 2-M5X0.8 Inlet port 24 4.5+0.05
= « T~ = ) ©
(=]
3.6 e 36 °
° é &76 r K +0.04
*em of—! A o © ®3 ol01dp:3
=] <H w oﬁ %c_) ol - Pkt I
S 1 \ 15 ® SRS
lo| @ fol <
a o Qf E L J
= 2 fet l S n o
; < S|4+0.0 n @ g
% g x 3100idp:3 m E 3 4.5
s = = 24 2-M4X0.7Thru.hole = -
& - &
=
N
0.5+0.1_ 32+0.02
Y ony [
—AJo
e{CE 1
o~
P. Qare Installation datum 33+0.05 2
HGS12X10S HGS12X10J] Adjustablerange:5mm of each side
Max.74
2 9 H1l
2 59 0.5 4 14, =4, 2 H4
B | = 0)XO) q = : BIGE (G
0 = = |
f\ e} - - ™ f\
| PO © © | iz
10] 45 6 5 7 2 6
2-M5X0.8 5 12
Inlet port

V4 361



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS12X15
5.5
5 <D3i8:3‘fdp:3 25 0 2-M5X0.8 Inlet port 24 4.5+0.05
. ©
n n I } © n
o = - = o
x 3.6 3.6, ~ 13 O
© o| 1o g o 4
+0.04,
A\ o| | ® © ®33g01dp:3
Q v o= ; IS I e
[=]] hel
O :_ q— < ~ B = Q o 55
o — o ++
. 3 g e > 0 g i “lo | ©
a < S Z =
2 e 1 N i ©
N = .
S & = 3100 dp:3 B - . =
S o/ 3+001dp: 2-®8Countersink dp:4.5 3
2 24 M5X0.8Thru.hole S)
< [32)
=
<
0.5£0.1 3240.02
@ AITTAE Y \D g
o~ g
(@D \zmna ¥
[P] | q
P. Qare Installation datum 33+0.05 2
HGS12X15S HGS12X15] Adjustablerange:5mm of each side
Max.79
© < H1l
S 75 0.5 4 4 4y 2| H4
ANFTAR I " O o ‘ 3 ANFEAR 0
$) - A
@ @ @ <} O O‘ ‘ @® | u_'I
19/ 2 \ 64 6 20 \ 15 \ 20 _|10.9/1.5 ' 6
2-M5X0.8
Inlet port

V4 362



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS12X20
5.5
i ®3150idp:3 25 : 2-M5X0.8 Inlet port 24 4.5+0.05
118 E I ©
0 e IRV =P .,
" TN 36 B o O
©
© i F ©
ol-0folalg 23 oo I® 1 3 1§:51dp:3
- N [P
X © - K = &
123 O g ;E’: \J
© i f N © © e
N o |l== %
3 i o 5 ! "
i o 1€ % z | © | 9
5 = & 4
s s it Ii o ©
1 .0; R
% ©l 3%coldp:3 2-®8Countersink dp:4.5 5
= 24 M5X0.8Thru.hole &
3 s
.
0.5#0.1 32+0.02
Q ANFTAR 0 : g
—AJ o
P. Qare Installation datum 33+0.05 2
HGS12X20S HGS12X20] Adjustable range :5mm of each side
Max.84
© 9 EIN o, Hil
p 90 0.5 4 14 =, Sy H4
e @©® AAE G
" a
(A n = (@B em
ﬁa @ @ () @®® ‘ ‘ ©® — ! u_“
i 79 6 20 _|_ 20 _|_ 20 35 wf [.16
~N 12
2-M5X0.8
Inlet port

V4 363



Slide table cylinder Ail'TAC

HGS Series Bore size: ®6, ®8, 10, 12
HGS12X25
5.5
5.5 ®3710:01dp:3 25 9 2-M5X0.8 Inlet port 24 4.5+0.05
o [ D1
—] =
2 ‘ ‘ o o | ©
i 3.6 © x 3.6 i
[s2]
Mo 1 e <z
o oD | © 0 kol =
o110 2 F 3 © s 38 d ®3135idp:3
5 © o
2 o . 08 e &
= | © el
& < L N
O o al o |[[= o
< k) = >
© ) \n g !
i 3 S 9 S |
. o~
e 2 *ﬁga &a 1n | © O
R & 3
= (NN i 3 o
g 31823‘1‘dp:3 2-®8Countersink dp:4.5 P
A 24 M5X0.8Thru.hole E
0.5+0.1__ 3240.02
—Vo
T i
P. Qare Installation datum 33+0.05 2
HGS12X25S HGS12X25] Adjustablerange:5mm of each side
Max.89
° 9 9 o Hit
S 105 0.5 4 14 A, Sl H4
“AFAR 0O ‘ AR |
(AR b « T
| @D © © 1" O©) 08 | 5l
10128 94 6 20 | 25 20 112089 5 126
2-M5X0.8
Inlet port

V4 364



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

